Name: _______________________________________________ Date: _____________________ Hour: _____________
7.5: Cube Roots
LT 7.5 I can find the cube root of a number
The volume of a cube is the length of an edge multiplied by itself three times. Multiplying two edges of the base of a cube gives the area of the base. The area of the base times an edge (length x length x length) that is the height gives the volume. The volume can be expressed by the formula V = e · e · e, or V = e3.
If you know the volume of a cube, you can work backward to find the length of an edge. For example, suppose a cube has a volume of 8 cubic units. To find the length of an edge, you need to figure out what number multiplied by itself three times equals 8. Because 2 · 2 · 2 = 8, the edge length is 2 units. The number 2 is called the cube root of 8.
[image: ]This cube has a volume of 8 cubic units. The length of each edge is the cube root of 8 units, which is equal to 2 units.
In general, if V = e3, then e is the cube root of V. Because 2 · 2 · 2 = 8, 2 is the cube root of 8. Because -2 · (-2) · (-2) = 8, -2 is the cube root of -8.

You can use the symbol, , to indicate cube root. For any number N,  indicates the cube root of N. For example,  = 2 and  = -2.
· How is finding the cube roots the same or different from finding square roots?

A. In this problem, use your calculator only when instructed to do so.
1. Find the edge lengths of cubes with volumes 1, 27, 64, and 125 cubic units.









2. Find the values of , , , and .









B. What is the volume of a cube with an edge length of 5 units? What is the volume of a cube with an edge length of 2.5 units?



1. Find the missing numbers.
a.  = 5



b.  = 2.5

2. Find x.
a. x3 = 27



b. x3 = -27



c. x3 = 



d.  = 27



e.  = -27



f.  = 



3. Label above what each positive value of x might represent in terms of volume and length.

C. Think about what you’ve learned so far about cube roots for the following questions.
1. Between which two consecutive whole numbers does  lie? Explain.


2. Which whole number from Part (1) above is closer to ? Explain.


3. Without using your calculator, estimate the value of  to one decimal place.


D. [bookmark: _GoBack]Circle which is greater:
1.  or 

2.  or 
image1.png
IMail Web Client

Apps

C | [ dashweb.pearsoncmg.com/main.htr

Remind 101

%7 [@ Dash Web

IMail Web Client

55128p=
Weebly § D2L | DataDirector [2) Dsch Web Login () Coriclum Crsfer -

Student Edition Problem 2.4 Looking for Pythagoras v

Ifyou know the volume of a cube, you can work backward to find the
length of an edge. For example, suppose a cube has a volume of 8 cubic
units. To find the length of an edge, you need to figure out what number
multiplied by itself three times equals 8. Because 2 + 2 + 2 = 8, the edge
length is 2 units. The number 2 is called the cube root of 8.

This cube has the volume of 8 cubic units.
The length of each edge is the cube root
of 8 units, which is equal to 2 units.

2

In general, if V = €%, then eis the cube root of V. Because 2 + 2 + 2 =8,
2is the cube root of 8. Because —2 + (—2) + (—2) 8, —2 is the cube root
of —8.

You can use the symbol, V', to indicate cube root. For any number N,

VN indicates the cube root of N. For example, V8 = 2 and V=8 = —2.
VN ind he cube f N. F ple, V8 =2 and V=8 = —2.

* How is finding the cube roots the same or different from finding
square roots?
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